Math 3 
 






Name: _________________________

Mod 2, Day 11 






Date: ______________ Period: _____
Mixed Practice
	1.  Simplify each expression.  Be careful!  The bases DO NOT match, so you cannot just combine the logs together.  HINT:  First, simplify each individual log, then simplify the entire expression.

	a)  
[image: image1.wmf]81

log

32

log

3

2

+



	b)  
[image: image2.wmf]5

1

log

256

log

5

4

+


	c)  
[image: image3.wmf]1000

log

216

log

6

-



	d)  
[image: image4.wmf]12

log

9

1

log

12

8

-



	e)  
[image: image5.wmf]64

1

log

36

log

7

2

6

+


	f)  
[image: image6.wmf]100

1

log

125

log

5

1

-



	g)  
[image: image7.wmf]243

log

2

81

log

5

3

9

+



	h)  
[image: image8.wmf]16

log

6

343

log

5

2

1

7

1

-


	i)  
[image: image9.wmf]128

1

log

5

7

log

4

2

49

+



	2.  Assume that log 4 ≈ 0.6021, log 5 ≈ 0.6990, and log 6 ≈ 0.7782.  Use the properties of logarithms to evaluate each expression.  DO NOT use your calculators.

	a)  log 24


	b)  log 30
	c)  log 36

	d)  log 125


	e)  log 64
	f)  
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	3.  Solve for x.

	a)  
[image: image14.wmf]50

5

3

=

x



	b)  
[image: image15.wmf](

)

(

)

4

3

ln

10

ln

18

ln

-

=

-

+

x

x


	c)  
[image: image16.wmf](

)

(

)

x

x

x

2

log

3

2

log

2

4

4

-

=

-



	d)  
[image: image17.wmf](

)

1

log

4

log

5

5

=

+

-

x

x



	e)  
[image: image18.wmf](

)

3

5

log

=

x


	f)  
[image: image19.wmf]81

10

7

=

+

x



	g)  
[image: image20.wmf]2

81

log

=

x



	h)  
[image: image21.wmf](

)

4

9

ln

=

+

x


	i)
[image: image22.wmf](

)

(

)

x

x

20

log

5

log

2

4

log

2

2

2

=

+



	4.  Solve each problem.

	a)  If Yolanda deposits $2000 in an account paying 3.8% annual interest compounded quarterly, when will her investment quadruple in value?



	b)  Roberto bought a used Honda for $20,000.  It is expected to depreciate at a rate of 16% per year.  When will the car have a value of $500?  



	5.  Solve for x.  (DO NOT use logarithms to solve any of these.)
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